[ Efficiency vs vertpos |

< 0.1
20.09
4
20.08
(8]
§0.07
(&)
£0.06
0.05
0.04
0.03
0.02
0.0

1.0

Ratio

=
T
i
T
.

0.95L H H
1072 10 1

10 0?
TP vertr (cr%)

—=— DQM_V000L_R000000001__Global__mkFit_batch
Efficiend —— pom_v0001_R000000001__Global__mkFit_NObatch

~ 0.1

L (S TR R B S

A T
Z0.08----- SRR I SRR R e
> E : : : : :
2 E : : : : :
o S S I S
[3} o : : : :
£ 0.06 - AR
o E : : : :
s R AR S
YT U S s o =
YU R N -
L T
T it S o o
R T gt
T r ' : ' '
o L :
1_—«» M B
0.050 : : ] i :
=30 -20 -10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.05

>
50.045

E
50.04

068 6 4 2 0 2 4 6 8 10
Sim. PV z (cm)




	Contents
	Page 1


